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A weather balloon is released from a height of 10,000 meters. It rises at a constant rate. The graph
shows how the balloon’s height changes over time.
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What s the rate of change of the balloon’s height, in meters per minute?

A 400
B 2,000
¢ 2400
D 10400
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Square PQRS is congruent to square EFGH.

of transformations to square PQRS will result in square EFGH?

translation down by 3 units followed by reflection across the y-axis

reflection across the y-axis followed by translation down by 5 units

reflection across the x-axis followed by 45° clockwise rotation about the origin

translation to the left by 4 units followed by 90° counterclockwise rotation about the origin
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Greg wants to compare two different relations. He drew a graph for one relation and created a table
of values for the other relation.
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Which statement about this graph and the values in this table is true?

A Both do not represent functions because they do not pass through the origin.

B Both represent functions because they are graphically represented as straight lines.

€ The graph represents a function because it is a horizontal line, but the values in the table do not
represent a function because there are multiple values for  for a single value of x.

D The graph does not represent a function because itis not a vertical line, but the values in the table
represent a function because there are multiple values for y for a single value of x.
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Harry constructed two scatter plots to represent the relationship between x and y in two experiments.
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Which statement BEST compares the two graphs?

Graph 1 shows a linear positive association, and Graph 2 shows a nonlinear negative association.
Graph 1 shows a linear negative association, and Graph 2 shows a nonlinear positive association.
Graph 1 shows 2 nonlinear positive association, and Graph 2 shows a linear negative association.
Graph 1 shows 2 nonlinear negative association, and Graph 2 shows a linear positive association.
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Figure 1 is rotated counterclockwise by 90° about the origin to obtain Figure 2.
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Which statement about the angles i Figure 1 and Figure 2 is true?

meG =meK
meH =mel
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meH =meK
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Solve for n.

[1’¢(4+n)]x6:72

What s the value of n, in feet? Show your work and write your answer on the line.

feet
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The United States has an approximate popul
consumes an average of about 14,000 grams of

n of 3 x 10° people. Each person in the United States
peryear.

Brazil has an approximate population of 2 x 10° people. Each person in Brazil consumes an average
of about 5 x 10* grams of rice per year.

Part A: About how much rice does the United States consume each year?
Part B: About how much rice does Brazil consume each year?

Part C: Which country consumes more rice each year, and how many times more rice does it consume
than the other country? Show your work and write your answer on the line.

PartA grams.
PartB____grams

Part C,
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Which of these is an irrational number?

A 425x107%
B 073
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Solve.

7x-3(+x)=28
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Look at the system of equations.

A Ithas no solution because the lines are parallel when graphed.

B It has no solution because the equations are the same line when graphed.

€ ithas infinitely many solutions because the lines are parallel when graphed.

D It has infinitely many solutions because the equations are the same line when graphed.
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‘Sofia read that there are approximately 2 x 10! stars in the
there are approximately 3 x 1022 stars in the entire universe.

ilky Way Galaxy. She also read that

How many times larger is the number of stars in the universe than the number of stars in the Milky
Way Galaxy?

A 15x10%
B 15x10
c 6x10t
D 6x10%
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The graph of a line passes through the points (0, 6) and (6, 0).

Which of these is the equation of this line?
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Look at triangles PQR and EFG.
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h of these explains why

ingles PQR and EFG are similar?

A Triangle EFG is a result of dilating triangle PQR using a scale factor ol%, with the orig
and reflecting it across the y-axis

n as the center,

B Triangle EFGis a result of dilating triangle PQR using 3 scale factor of 2, with the origin as the center,
and reflecting it across the y-axis

€ Triangle EFG is a result of dilating triangle PQR using a scale factor ol%, with the origin as the center,
and translating it 5 units to the left.

D Triangle EFG is a result of dilating triangle PQR using a scale factor ol%, with the orig

in as the center,
and translating it 5 units to the left.




